Tabulka pro vypofet vnitinich sil spojitého nosniku o tiech polich
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M,= M, —0,0859 gl —0,1398 P 02485 P 03494 Pl, 00537 g}
max M, = max M, 40,0857 ght 40,180 1 P, 40,2505 Pl 403253 P, =
max M, —0,005 9 gh +0,060 2 P 40,0182 P, +0,050 6 P/, —
- 08 | Qw=—0Qu=4=D +0414 1 g, 40,3602 P 40,7515 P +1,1506 P +0.196 3 gl,
' 0w = + 0. 40,5859 gl +0,6398 P +12485 P +18494 P +0.303 7 gl
e On = —0u +0,400 0 gl; +0,5000 P +1.0000 P +1,5000 P +0,2000 g,
N B=C +09859 gl, 11398 P 422485 P +33494 P +0.503 7 g,
1 M, =M, 0,100 0 g} —0.1500 P} —0.266 7 P, —0.3750 P —0,0625 ght
max M, = max M, +0,080 0 gt 40,1750 P, +02444 P +03125 P, =
T max M, +00250 g1t +0,1000 P, +0,0666 7/ +0.1250 P -
S ;
N0 [ Qu=A4=D= O +0,400 0 g, 403500 P 407333 P +1,1250 P +0.187 5 gl,
0n=+0u 40,6000 gl; 40,6500 P 41,2667 P 418750 P 03125 g,
[ 0 = — 0. 40,5000 g/, +0,5000 P +1,0000 P +1,5000 P +0,250 0 gl;
B=C +1,1000 gh 11500 P +2,0667 P +33750 P +0.562 5 gl,
€ M, = M, —0,1218 gl} 01634 P, 0,2905 P 0,408 5 P, 0,076 1¢/3
max M, = max M, 400715 g/} +0,1683 P 40,2365 P, +02957 P, _
1 max M, +0,0582 g/} +0,136 6 Pl +0,109 5 P, +0.191 5 P, —_
° 12 | Qw=—0Qu=4=D +0,3782 gl, 40,3366 P +0,7095 P +1.0915 P +0,1739 gl,
—0n = +0u 40,6218 gl; 40,6634 P 412905 P 41,9085 P 40326 1 gl
On = — 0. 40,6000 gl; 40,5000 P +1,0000 P +1.5000 P +0.300 0 gl;
B=C +1,2218 ¢l +1,1640 P +22905 P +3,4085 P 40,626 1 g,
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M, = M, —0,029 1 gh —0,0545 P, —0,0970 P} —0,136 4 P| —0,0182 gl
. max M, 40,0509 gh +0,1454 Pl +0,169 7 P, +0,263 6 P =
rT 0= Qu=4=D=
o | os L==Qu= —0u —0,029 1 g, —0,0545 P —0,0970 P —0,1364 P —0,0182 g,
&l ’ O = — 0 +0,400 0 g/, 40,5000 P +1,0000 P +1,5000 P +0,200 0 gl;
B=-C 40,429 1 g, 40,5545 P +1,0970 P 41,6364 P 40,2182 gl;
@+ M, = M, —0,050 0 gl} —0,0750 P, —0,1333 Pl —0,1875 Pl —0,0312 g
) 40,0750 g} 40,1750 P +0,2000 P} 40,3125 P, —
T
5w —0,050 0 gy —0,0750 P —0,1333 P —0,1875 P —0,0312 gl
' +0,5000 g1, +0,5000 P +1,0000 P +1,5000 P 40,2500 gh
| 40,5500 g/, 40,5750 P 41,1333 P + 1,687 5P +0,281 2¢],
<
< 0,077 1 g —0,096 4 P, —0,1714 Pl —0,2410 P} —0,048 2 gl}
€. max M, 40,1028 gh 40,2035 Pl +0,2286 P +0,3589 Pl =
Qu=0n=-A=D=
N R e —0,077 1 g, —0,096 4P —0,1714 P —0,2411 P —0,048 2 gk
o ~ On= —0a 40,600 0 g/, +0,5000 P 41,0000 P +1,5000 P +0,300 0 gl;
B=C 40,677 1 g, +0,5964 P +1L,1714P +1,741 1P +0,348 21,
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° | - M,= M, —0,056 8 g/t —0,0852 P, —0,1515 P, —-02131 P, —0,035 5 gh
F | 08 max M, = max M; +0,098 2 glt +0,2074 Pl +0,282 8 P, +0,393 5 P -
€1 Qu=A=—0u=D +04432 gl +04148 P +08485 P +1,2869 P +0,2145 gl
1 L LT +0.5852P F1IS15P FIT31P 70,0855 g1
* ki _i' O = Ohe 0 0 0 0 y
M= M, —0,050 0 g} —0,0750 P, —0,1333 P, —0,1875 P, —0,0312 gt
oE| max M, = max M, +0,1012 gt +0.2125 P +0,288 9 Pl +0,406 2 P -
]
El | 10 [Qu=A=D=—0, +0,4500 gl +0,4250 P +0,8667 P +13125 P +02187 gl
‘ —On=0u=8=C +0,5500 gh +0,5750 P +1,1333 P +1,6875 P +0,0812 gl
al, _} [ 1} 0 0 0 0
gy Lk —0,0446 glt —0,0670 Pl —0,1190 Pl —0,1674 Pl —0,0279 ght
£l max M, = max M, +0,1037 gt +0,216 5 Pl +0,293 6 Pi, +0,4163 P, -
Op=A=D=—0Q, +0,4554 gl, +0,4330 P 08810 P +13326 IV
g | — = - =
o fu=B=0u-C +0,546 gl +0.5670 P +1,1190 P +1,6674 P +02779.gl
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M, —0,102 1 gl 0,164 1 PI, 02917 Pl, 04103 Pl, 0,063 8 gl
M. 00128 ghi —0,0302 PI, 00537 P, 00755 I, —0,008 0 gl}
max M, +0,079 1 gl 40,1679 Pl 40,236 1 P, +0.294 8 P, —
max M, +0.0287 gli 40,1028 P, +0,133 6 PI) 40,157 1 P =
0= A 40,397 8 gl, 403358 P 40,7082 P +1,0897 P +0,186 2 ¢,
0. 10,602 1 gl, 0,664 1 P 12917 P 19103 P —03138 ¢/
08 9, 40,5116 gl, +0,6673 P +12976 P +19185 P +0.260
0 —0,2884 gl, 03326 P —0,7023 P 10815 P 0.130 2 ¢/,
0. +00128 gl 00302 P +00537 P 00755 P 40,0080 g/,
B S 11137 g, F13315P 25894 P 38288 P 40,583 6 gl;
S e +03012 g/, 403628 P 40,7560 P 11570 P +0.1383 g/,
D= —Q. 00128 ¢/, 00302 P 00537 P 00755 P 0,008 0 g/,
M, —0.116 7 gl} —0.1750 P, 03111 P 04375 P, 00729 gl
M, —0,0333 g1} 0,050 0 I, —0,0889 P, —0,1250 P, —0,0208 gl}
- +0.073 5 ghi £0.1625 Pl +0,2296 PI, 40,2812 I, =
40,053 5 gli 40,1375 Pl +0,1704 PI) 402187 PI, —
il 403833 g, +03250 P +0.6889 P +1.0625 P +0,177 1 gl;
l o L2 —0,6167 g, —0.6750P —13111°P 19375 P 40,3229 gl
o } [N 40,5833 gl, 40,6250 P 12222 P +18125 P +0.3020 g/,
I Q. 0,416 7 ¢, 03750 P 07778 P 11875 P 01979 ¢l,
| 0. +0,0333 g/, 40,0500 P 40,0889 P 40,1250 P 40,020 8 gl,
o) I B +1.2000 gl, +1,3000 P +2,5333 P +3.7500 P +0.625 0 gl,
C 40,450 0 gl; 40,4250 P 40,8667 P +13125 P +0,2187 g,
~ D= —Q. —0,0333 g/, —0,0500 P —0,0889 P —0,1250 P 10,0208 g/,
=) M, —0,138 5 gl —0.188 5 P, —0,3351 P, +0.4713 Pl —0,086 6 g/}
M, 0,060 4 gl3 00713 P 0,126 8 P, 01782 P, 00377 gl
max M, 40,065 3 gl 40,1557 Pl 40,2216 Pl 40,2644 P, -
o max M, 40,082 6 gl +0.170 1 Pl +0.203 8 PI) 40,2752 P, —
S Q=4 40,361 5 gl, +03115P 40,6649 P +1,0287 P 40,163 4 gl
12 | O —0,6385 g/, —0,6885 P 13351 P 19713 P 0,336 6 gl,
0. +0,665 1 gl, +0,5976 P +11736 P $1,744 1 P 40,3407 gl;
0., —0,5349 g/, 04024 P —0,8264 P 12558 P 02593 gl,
0. 40,060 4 g, +0,0713 P 40,1268 P 01783 P 40,0377 gh
B 41,3036 gl, +12862 P +2,5087 P +37154 P 40,6773 gl
C 40,595 3 gl, +04737 P 409532 P 414341 P 40,297 1 g,
D= —0, —0,060 4 g, 00713 P —0,1268 P 01783 P 00377 g,
') max M, je pod druhym biemenem
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M, —0,073 0 g —0,1096 P —0,1948 P} —0,2739 Pj —0,045 6 ght
M, +0,016 2 g} +0,0243 P, +0,0432 P +0,0609 P, +0,010 1 ght
max M, +0,091 1 g} 40,1952 P, +0,268 4 P, +0,363 0 P =
Q= A 40,4269 gl, +03904 P 40,8052 P +1,2260 P +0,204 3 gl,
08 | on 0,573 0gl, 0,609 6 P —1,1948 P —1,77139 P —0,295 6 g,
O =0 +0,1116 gl +0,1673 P +0,2976 P +04185 P +0,069 7 gl
T B +0,684 6 gl, +0,7769 P +14924 P +2,1924 P +0,365 4 gl,
B —Qu= —Qu=+D +0,016 2 g, +0,0243 P +0,0433 P +0,0609 P +0,010 1 g,
€ c —0,1278 g}, —0,1917 P —0,3409 P —04793 P —0,0799 g,
M, —0,066 7 glt —0,1000 P, —0,1778 P, —0,2500 Pl —0,0417 gl
-+ M. +0,046 7 gl +0,0250 P, +0,044 4 P, 40,0625 P, +0,0104 gff
max M, +0,0939 g} +0,2000 P 40,2707 P, +0,3750 P, =
E‘@' Qu =4 40,4333 gl, +0,4000 P, +0,8222 P +1,2500 P +0,208 3 gl;
=110 [ ow 0,566 7 gl; —0,6000 P —1,1778 P —1,7500 P +0,291 7 gl;
‘ Qs = Qus 40,083 3 gl 40,1250 P 40,2222 P +03125 P 40,0520 gh
L i B +0,650 0 gl, +0,7250 P +1,4000 P +2,0625 P +0,343 7 gy
—Qu=—Qu=D +0,0167 gl, +0,0250 P 40,0444 P +0,0625 P +0,010 4 gl;
- C —0,1000 g —0,1500 P —0,2667 P —0,3750 P —0,0625 gl;
M, —0,061 4 g1 —0,092 1 P} —0,1637 P} —0,2302 P, —0,038 4 gl}
S M, +0,0167 gl +0,025 1 P 40,044 6 P +0,062 8 P, +0,010 5 gh
max M, 40,096 2 gl 40,204 0 P, +0,278 8 P, 40,3849 P, —
Qu=A +0,4386 gl, +0,4079 P +0,8363 P +1,2698 P +0,211 6 gh
12 | O 0,561 4 gl; —0,5921 P —1,1637 P —1,7302 P 02884 gl,
O = O 50,065 1 gl 10,0976 P 40,1736 P 02441 P 00407 g,
B 0,626 5 g/ +0,6897 P +13373 P +19743 P +0,3290 gy
—Qu=D= —Qu 40,0167 g, 40,0251 P +0,0446 P +0,0628 P +0,0105 g,
C —0,081 8 gi; —0,1228 P —0,2182P —0,3069 P —0,051 1 gl,




